Rezerves dalu shéma

Cxema

3an4yacTten

Ersatzteile

SLIPMASINA
MALIVHA WNNDOOBATbHASA
GERADSCHLEIFER

TYP

TSM1-150

Diagram of Spare Parts =~ GRINDER Stand issue 07.2011
Poz.Nr.| Detalas Sifrs Nosaukums Skaits Poz.Nr.| Detalas Sifrs Nosaukums Skaits
Ne no3.| Lucp perann Hanwvetosatue Kor-8o Ne no3.| Ludp nerann Hanwvetosatue Kon-80
Position| Bestell- Nr. Benennung Stiick Position| Bestell- Nr. Benennung Stiick
Pos. | Part number Name Qty. Pos. | Part number Name Qty.

1 |[DIN911 10,9 SW6 Atslega (Kntoy) 1 35 | IE-5708-0130-003-02 | Atspere ([pyxuHa) 2
2 |TSM1-150.05.00.00 Atslega(Knioy) 1 36 | IE-5708-0130-002 Ass (Ocb) 2
3 |TSM1-150.00.00.09 Uzgrieznis (Taiika) 1 37 | DIN934 8VZ M4 Uzgrieznis ([aiika) 2
4 (IE-2011.01.00.05 Blive (Mpoknanka) 2 38 | 5708.0130.001-02 Sukas turétajs (LLlerkonepxarens) 2
5 |TSM1-150.00.00.08M Atloks (PnaHeu) 1 39 | 5107-0260-000-02 Suka (LLéTKa) 2
6 |TSM1-150.00.00.07 Gredzens (KonbLo) . ) 1 40 | DIN127 vZ/B3 Paplaksne (LLlaii6a) 9
7 |TSM1-150.03.00.00-K | Aizsargapvalks kopsalik. (Koxyx 3awutHelii B c6ope)| 1 41 | DIN84 4.8V7 M3x8 Skriive (BuHT) 9
8 [40x1.75 DIN472 Spro_stgredzensv(Konbuo CTOMNOPHOE) 1 42 | DIN125 V7 4.3 Paplaksne (lLlaii6a) 4
9 |TSM1-150.00.00.12 Paplaksne (LLaii6a) 1 23 | DINt27 VZ/B4 Paplaksne (Llaii6a) A
10 [IE-2011.01.00.16-01 Gredzens (KonbLo) 1 _

11 16-80203 c3 Gultnis (MoawunHuK) 1 44 | DIN84 4.8VZ M4x12 Skruye (BuHT) ) 4
12 |[TSM1-150.00.00.04 | Darbavarpsta (Linuxgens) 1 45 | DIN127 VZ/BA Paplaksne (LLlai6a) 1
15 |IE-5708C.01.02.00-01 | Stators (Crarop) 1 46 | DIN84 4.8VZ M4x10 | Skrive (Buh) 1
16 |IE-5107.0200.006 Diafragma ([nacpparma) | 48 | TSM1-150.00.00.18 Uzliktnis (Haknapka) 1
17 |IE-5107.0200.008 Kompensators (Komnercarop) 1 49 | 1E-2107A.00.00.17 Aizsargcaurule (Tpy6ka 3awmuTHan) 1
18 |6201-2Z C3 HT Gultnis (MoawunnHuK) 1 50 | HO7RN-F 2x1 2.6 Vads (Kabenb) 1
19 |TSM1-150.01.00.00 Enkurs (Akopb) 1 51 | SPEZ 16zn-4x20 Skriive (BuHT) 2
20 |TSM1-150.00.00.14 Piespiedpaplaksne (MnactuHa npuwxumHas) 1 52 | TSM1-150.00.00.17 Rokturis (PykoATka) 1
21 (6201-2Z C3 HT Gultnis (TopwunHuk) 1 53 | MEX GPF 40/085/21/C | Kondensators (KoHaeHcatop) 1
22 |TSM1-150.00.00.02 Paplaksne (LLlai6a) 1 54 | HY44BC SIEdzis (Bblknioyarens) 1
23 [1023A.01.01.02-1CK Zobrats (KOHGCO 3y6anoe) 1 55 | 1E-2009-0200-003 Apskava (CKOﬁa) 1
24 |TSM1-150.00.00.03 Gredz'ens (KonbLo) 1 56 | SPEZ 162n-4x16 Skrive (BunT) 1
25 16-80201 G3 Gultnis (TonuinHuk) Ut 57 | sPez16n-45x75 | Skriave (Bunm) >
26 |TSM1-150.00.00.01-K | Reduktora korpuss (Kopnyc peayktopa) ! 61 | LSM2-230.01.00.01 Amortizators (AMopTu3arop) 1
27 |TSM1-150.00.00.06A | Vacins (Hatnanka) " 62 | cR-00.00.01-10 Caurule (Tpy6Ka U30NALMOHHAR) 2
28 |IE-2011.01.00.17 Gredzens (KonbLo) 4 e A .

29 |SPEZ 162n-4x30 Skriive (BUHT) 4 63 | DS12A Elektroniskais bloks (Bnok aneKkTpoHHbli) 1
30 [DIN84 4.8VZ M4x30 | Skrave (Buur) 2 || 64 | SPEZ16zn-4x40 Skrave (BuT) 4
31 |DIN127 VZ/B4 Paplaksne (LLaii6a) ) 65 | DIN965 4.8VZ M4x12 | Skrave (BuHr) 2
32 |TSM1-150.00.00.05A | Rokturis (Haknagka) 1 66 | IE-2009-0200-009 Sukas turétaja vaks (Kpblwka werkogepxarens) 2
33 |SPEZ 16zn-4x16 Skriive (BuHT) 4 67 | LSM2-230.01.01.00 Vaks salikuma ar turétajiem (Kpbiwka B c6ope) 1
34 [IE-5107.0226.000-K Korpuss (Kopnyc) 1 68 | DIN125VZ 3.2 Paplaksne (LLaii6a) 2

zmanibu! Remontdarbus, izmainu ievieSanu un rokas elektrisko BHumanue! PeMOHTHbIe PaboTbl, BHECEHME W3MEHEHUA W WCMbITAHUE PydHbIX ung von handgefiihrten Attention! Power tools repair, modification and testing must be carried ou

instrumentu jzmeginasanu veiciet Vajadziga tehniska_[imeni, ieverojiet
droSibas tehnikas prasibas atbilstoi EN un citiem atseviSkas valstis speka

esoSiem normativiem dokumentiem.

Paturam sev tiesibas_ienest izmainas. Musu raZojumi tiek_pastavigi
pilnveidoti atbilsto$i misdienu tehnikas attistibas limena prasibam. Tapéc

mes paturam

sev tiesibas ienest izmainas.

NeNCTBYIOWKX B OTAEMbHBIX CTPAHAX HOPMATUBHLIX 0KYMEHTOB.

3NEKTPOMHCTPYMEHTOB  BLINONHAITE HA AOMKHOM TEXHW4ECKOM YPOBHE,
coGnionaiire Tpe6oBaHiA no TexHuke besonacHoctu cornacHo EN, TOCT nnpyrux,

OcTasnAem 3a COOO NpaBO Ha BHECEHWE U3MeHeRWiA. Hawu n3nenna nocToARHO
NPUBOAATCA B COOTBETCTBUE C Tpeﬁoaam@wm COBPEMEHHOr0 YPOBHA Da3BUTUA

TexHUKin. [03ToMy Mbl 0CTaBnAeM 3a COO0/ NPaBO Ha BHECEHUE N3MEHEHMIA.

Beachten! Instandsetzung, Anderungen und Prii
Elektrowerkzeugen sind

fachgerecht

giiltige Vorschriften sind einzuhalten.

Anderungen vorbehalten. Unsere Erzeugnisse werden stets dem heutigen
technischen Stand angepaBt. Deshalb behalten wir uns Anderungen vor.

durchzufihren. Die
Sicherheitsvorschriften nach EN, DIN und weitere in den einzelnen Landern

accordance with EN and other regulations applical
must be observed.

to alter data and specifications.

according to the generally recognized engineermgD ractice. Safety notes in
[}

in individual countries

Modifications reserved. Our products are constantly modified to meet the
requirements of modern technical standards, therefore we reserve the right




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


